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TH26%E10AKIRAE
TR26FE108XxH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 27,211 34,980 37,400 72,380 BAAERAAQD 27,157 34,939 37,340 72,279
SNEAERAO 186 232 239 471 SNEAERAO 184 229 239 468
KENMAB 27,397 35,212 37,639 72,851 KENHAB 27,341 35,168 37,579 72,747
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,077 1,419 1,396 2,815 B — Al =2 252 307 334 641 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 793 897 933 1,830 o . ¥ /N 122 162 168 330 HWmE—TH 796 884 999 1,883 wu&aE—THB 29 42 40 82
2 HT 75 Hh 15 PN ] 204 209 229 438 =H 113 147 160 307 WME-TH 558 662 748 1,410 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 884 995 1,066 2,061 A T S B 69 88 101 189 WE=TH 263 326 375 701 WILE=TH 0 0 0 0
TR s TR 1,032 1,245 1,388 2,633 KEf 206 255 250 505 WEMTH 198 248 284 532 WILEMTHB 0 0 0 0
T/ E i H/E 478 564 604 1,168 EEFE 18 27 27 54 WEATH 771 1,024 1,146 2,170 BWILERTHB 0 0 0 0
K2 A EELW 195 224 271 495 FAFTET 174 177 214 391 FENARTH 87 115 122 237 WILEARTE 23 38 30 68
ma 104 155 153 308 T Hh i FhTET 125 141 158 299 W&EtTH 184 247 265 512 wWLUEtTH 253 363 366 729
iR ithig iR 259 316 362 678 L FrHET 130 173 162 335 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 93 105 138 243 Fa ET 182 225 270 495 HEEZTH 233 323 322 645 WILEATE 0 0 0 0
KE 859 1,001 1,006 2,007 PHHET 16 22 29 51 HEEB=TH 8 10 9 19 wua+TE 81 116 121 237
dt 2 [E iz ZzE 447 506 515 1,021 i = Hhig Fh T 38 32 46 78 HEEMTH 0 wua+—TH 5 11 10 21
ot B st i 161 196 192 388 BRHET 101 116 127 243 HESRTH 295 353 404 757 BWuE+=TH 0 0 0 0
i) i 192 217 233 450 % 82 81 115 196 HEBARTH 173 224 254 478 BWUE+=TH 0 0 0 0
4 this He 2,857 3,506 3,939 7,445 RifiFE 137 150 188 338 HEELTH 350 401 454 855 INEt 391 570 567 1,137
HZE A Hhis HES 1,709 2,089 2,314 4,403 AR o ERE—TH 51 57 70 127 HES/NTH 376 482 527 1,009 =1 11,584 15,968 16,867 32,835
BRI & AENE1~4TH 780 978 1,083 2,061 BRE—TH 283 325 359 684 HEEALTH 274 296 344 640
a2 & Ki2)I185~9T B 1,489 2,322 2,337 4,659 ERE=TH 45 64 72 136 AZN&—TH 337 408 455 863
W B & Hhis MWERE 2,179 3213 3,293 6,506 il 64 63 72 135 KEZJNEZTH 97 121 134 255
¥ 35 A Hhig mES 2,179 3,290 3,334 6,624 izt 36 24 39 63 KZJNE=TH 346 449 494 943
LA Hh i wIlE 391 570 567 1,137 it 39 51 56 107 KZJNEMTH 0
=11 18,362 24,017 25,353 49,370 hnyE R ER iz INGE 59 57 62 119 KENEBEETHE 242 407 393 800
INST 76 73 80 153 KZNEBATHE 553 797 791 1,588 (FH)
AARAERHE- A O£ (IHILEE) §4 5 79 85 103 188 R2NEETH 330 506 519 1025 X5 s 4 5 % i
(LI EH 27 38 40 78 KENEBE/NTBE 364 612 634 1,246 mmEae—TH 160 204 212 416
1T 4 B R X 3 L 5 g &t HIEE 102 110 124 234 KENEATE 0 EmE&=TH 140 153 176 329
5 F st tisE 181 251 297 548 fit] W} 115 145 150 295 MWREE—TH 489 748 721 1,469 EMEXE=TH 137 153 178 331
[Fap il 412 575 599 1,174 TR 100 113 146 259 MREEZTH 121 193 189 382 AmEemTH 114 132 147 279
A6 3 B #thig FEE 390 567 575 1,142 i} 45 52 56 108 MEE=TH 238 349 380 729 EMXEETH 56 65 66 131
T E i MTE 664 896 915 1,811 HRIR Hhig H 34 39 41 80 MREMTH 253 350 376 726 mAMmXEaNTH 166 191 214 405
HEF 59 60 87 147 BRI 67 72 89 161 MWRERTH 256 392 401 793 mmEaetTH 151 186 210 396
=By | ST 133 179 196 375 IhEF 72 83 97 180 MWRENTH 330 469 466 935 EmE&/\TH 186 225 244 469
B 227 348 376 724 mp 36 47 53 100 MWREETH 271 417 435 852 mAMXaEATH 185 214 238 452
e 45 45 70 115 L3 G 36 4 45 86 MWRE/NTH 221 295 325 620 mmEae+THE 181 209 233 442
+A1 52 76 86 162 b=pie) 36 41 46 87 wmEE—TH 256 311 314 625 mmEse+—TH 250 303 313 616
EI\2 131 159 211 370 B/ 13 17 18 35 BEE-TH 349 535 509 1,044 mEmnEe+=TH 212 277 284 561
IRt &R i £33 72 102 126 228 N 5 6 5 11 BEXE=TH 345 549 572 1,121 mmEae+=TH 153 184 202 386
tiRa 55 71 80 151 CiEgN 31 43 45 88 HwEEMTH 280 424 454 878 mEmnEE+mTH 121 153 178 331
a5 99 145 143 288 BTF 21 29 27 56 BEERTH 365 572 602 1,174 mAnEae+aETH 138 183 168 351
tiae 149 172 203 375 4 2 ik ETF 16 21 22 43 BESNATH 309 541 531 1,072 =Ll 2,350 2,832 3,063 5,895
37 69 92 83 175 3 9 13 11 24 mEELtTH 275 358 352 710
LRt ithig EIA8 95 127 124 251 =2E 8 6 10 16 wmEE/NTH 0 0 0 0
tIRo 112 138 153 291 g JEL 6 6 5 11 INET 11,193 15,398 16,300 31,698
ti\E10 89 110 131 241 PNy i 14 11 16 27
WEXN 28 28 28 56 it 31 45 51 96
= REX S 5 5 6 11 [R5 48 57 77 134
EREEHN 63 48 59 107 RN & thig Emxa 2,350 2,832 3,063 5,895
=11 3,130 4,194 4,548 8,742 =1l 5719 6,769 7,499 14,268




